
TMap NEXT Test Engineer (EX0-113)
Exin TMPTE

Version Demo

Total Demo Questions: 10

Total Premium Questions: 60

Buy Premium PDF

https://dumpsqueen.com

support@dumpsqueen.com

https://dumpsqueen.com/exin-dumps/tmpte/
https://dumpsqueen.com/exin-dumps/tmpte/
https://dumpsqueen.com/
mailto:support@dumpsqueen.com


DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com

Topic Break Down

Topic No. of Questions

Topic 1, Volume A 29

Topic 2, Volume B 31

Total 60

https://dumpsqueen.com/


DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com

   

QUESTION NO: 1

What is not a test benefit?

A. facilitating good project control by providing information

B. avoiding repair costs and consequential loss in the production situation

C. avoiding damage during production

D. release of a product

ANSWER: D 

QUESTION NO: 2

When customer data is entered, it is mandatory to specify an e-mail address. Which test design technique can be used to 
test the above?

A. Data Cycle Test

B. Process Cycle Test

C. Syntactic Test

ANSWER: C 

QUESTION NO: 3

Which system development method is agile and contains structured guidelines for development testing?

A. DSDM

B. SDM

C. XP

ANSWER: C 

QUESTION NO: 4

Which defect has an internal cause that can be solved within the test team?

A. a defect in the test basis
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B. a defect in the test specification

C. a defect in the test object

ANSWER: B 

QUESTION NO: 5

What is recorded in a test plan?

A. the initial situation, action and predicted result

B. the test situations to be tested

C. the division into test units and the test techniques to be used

D. a stepped plan for the test execution

ANSWER: C 

QUESTION NO: 6

See the illustration below:

To test a registration application for a weekend trip, logical test cases must be created in accordance with the Data 
Combination Test. In addition, it has been agreed that less depth testing must be performed. One data pair has been defined 
that must be fully tested in combination:

� car - attraction

Eight test cases are designed using a classification tree.
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Where must the 'bullets' for test case 4 be placed?

A. Saturday, fun park, 2nd

B. Sunday, museum, station

C. Sunday, fun park, station

ANSWER: C 

QUESTION NO: 7

See the definition below: The ease with which the information system can be adapted to new requirements of the user and 
the changing external environment, or to correct errors. Of which quality characteristic is this the definition?

A. manageability

B. flexibility

C. maintainability

ANSWER: C 

QUESTION NO: 8

Which type of tool is used in the Execution phase to test a module or component that has a relationship with programs that 
have not yet been realized?
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A. code coverage tool

B. comparator

C. 'model-based testing' tool

D. stubs and drivers

ANSWER: D 

QUESTION NO: 9

During the Process Cycle Test, the coverage type paths is used. In which way can coverage be varied here?

A. by using boundary values

B. by using a higher or lower test depth level

C. by taking equivalence classes into consideration

ANSWER: B 

QUESTION NO: 10

For the creation of the central starting point there are several techniques. In the given situation it is necessary that 
consistency between the data entered is guaranteed. Which of the techniques below is preferable if only one technique may 
be used?

A. use of production data

B. entering through separate front-end software

C. entering through regular system functions

ANSWER: C 
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